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  (1) –1, 2, 3  4    . 

  (2) –1, 2, 3  5    . 

 

1. (A)      ?   ,  ()  
 . 14 

     

      (  ) 

  (1)     . 7 

  (2)     . 7 

  (3)           . 7 

 (B)      (  ) 3 

  (1)            . 

   (a) AS-3/Ind AS-7  (b) AS-10/Ind AS-16 

   (c) AS-14/Ind AS-110 (d)     

  (2) AS-19/Ind AS-17     ? 

   (a)     (b)   

   (c)    (d)    

  (3)       

   (a) AS-20/Ind AS-33  (b) AS-2/Ind AS-2 

   (c) AS-12/Ind AS-20  (d) AS-10/Ind AS-16 
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  (4) IFRS    ( )  
   (a) International Financial Reporting Standards 
   (b) Indian Financial Record Standard 
   (c) Indian Financial Reporting Standards 
   (d)     
  (5)   _____      . 
   (a) ICAI (b) ICSI (c) ICWAI (d) CLB 
 

2. (A)   . 31-03-2017  . 31-03-2018   -     14 

 31-03-17 31-03-18  31-03-17 31-03-18 

` ` ` ` 

  ` 10      30,00,000 40,00,000 

    20,00,000 34,00,000     10,00,000 12,00,000 

  – 1,00,000  20,00,000 28,00,000 

  4,00,000 4,50,000  8,00,000 10,00,000 

  1,00,000 2,00,000  15,00,000 16,00,000 

-  6,00,000 8,00,000  9,00,000 6,00,000 

10%  .     4,00,000 2,00,000 

 10,00,000 5,00,000   – 3,50,000 

 5,00,000 4,00,000   2,00,000 1,50,000 

 1,50,000 2,00,000    

   5,50,000 –    

  3,00,000 3,50,000    

  2,00,000 3,00,000    

 58,00,000 67,00,000  58,00,000 67,00,000 

     2017-18    

  (1)    ` 1,00,000    . 
  (2) ` 20,000         . 
  (3) 31-3-2017       ` 2,50,000     

` 2,00,000   . 
  (4) ` 3,00,000      .       

  . 
  (5)   ` 5,00,000           

` 2,00,000   ` 2,50,000    . 
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  (6)    2 : 1         
 . 

  (7)      ` 100   1000    ` 10  
  8000      . 

        -3   -7 
        . 

   (     ) 

 
 (A) (1) . 31-3-2018   ‘’ .        7 

 `  ` 

` 10      30,00,000   55,50,000 

  12,00,000  6,00,000 

-  6,00,000  2,40,000 

10%   12,00,000  3,60,000 

 6,00,000   7,20,000 

 2,00,000    1,30,000 

  2,00,000   

  6,00,000   

 76,00,000  76,00,000 

      
   (1)   ( ,   2/5  .) ` 42,00,000.  

   (2)   ` 15,00,000 

   (3)   (   ) ` 9,60,000 

   (4)   50% .  
   (5) . 1-4-2017    ` 4,80,000 

               
  . (    .) 

   (1)    (12%) 

   (2)   ( 360   .) (60 ) 

   (3)   (1 : 1) 

   (4)    (5 ) 

   (5)      (10%) 

  (2)    “  ” 7 
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 (B)      (  ) 4 

  (1)       ` 30,000 ,  ` 4,80,000,  

 ` 1,50,000   ` 6,00,000       

   (a) 25% (b) 20% 

   (c) 331
3% (d)     

  (2)     ` 60,000    ` 40,000    

 ` 4,00,000         

   (a) 25% (b) 15% 

   (c) 10% (d) 50% 

  (3)           ? 

   (a) 2 : 1 (b) 1 : 2 

   (c) 1 : 1 (d) 3 : 1 

  (4)      ` 1,50,000    ` 1,80,000 . 

    ` 20,000      ` 60,000   

.          ?  

   (a) ` 10,000 (b) ` 20,000 

   (c) ` 25,000 (d) ` 30,000 

  (5)         ? 

   (a)   (b)   

   (c)   (d)   

  (6)            ? 

   (a)   (b)  

   (c)   (d)   
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3. (A)  . . 1-4-2017         14 

 `  ` 

 14,40,000   18,00,000 

 3,60,000  3,00,000 

10%   4,80,000  1,80,000 

 1,20,000    1,20,000 

 24,00,000  24,00,000 

     

  (1)  2017-2018   ,       
` 16,20,000, ` 24,00,000  ` 2,04,000 . 

  (2)    31 , 2018    . 

  (3) 31 , 2018   ,       
` 2,40,000, ` 2,88,000  ` 1,80,000 . 

  (4)     10%     . 

  (5)   ‘’    . 

  (6)         

   1  , 2017   210  

   31 , 2018     315 

       252 

              2017-18 
   .  

 

         

  (1)       . 7 

  (2)       . 7 

  (3)      .    
 . 7 

  (4)    “  ” 7 
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 (B)      (  ) 4 

  (1)          
 . 

   (a)   (b)  
   (c)    (d)     
  (2)        .... 
   (a)    (b)    
   (c)      (d)     
  (3)    . 
   (a)   (b)   
   (c)     (d)   

  (4)         . 
   (a)  , 1980 (b)   , 1977 

   (c)  , 1986 (d)   

  (5)    ________   . 
   (a)   (b)   
   (c)      (d)     
  (6)    ________   . 
   (a)    (b)    

   (c)    (d)    

 

4. (A)      ?     ()  
   . 14 

 
  (1)          . 7 

  (2)         . 7 

 (B)      (  ) 3 

  (1)    ________    . 
   (a)    (b)    

   (c)   (d)    
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  (2)     …… 

   (a)         . 
   (b)      . 
   (c)      . 
   (d)         . 
  (3)     …… 

   (a)     . 
   (b)      . 
   (c)      . 
   (d)    . 
  (4)       ? 

   (a)     

   (b)  -     

   (c)     

   (d)      

  (5)        …… 

   (a)  -      . 
   (b)      . 
   (c)  ,      . 
   (d)         . 
 

5. (A)  . . 30 , 2017     -     
    14 

 ` 

 4,00,000 

  1,00,000 

 1,00,000 

     -     ` 20,000      . 
     
  (1) . 30 , 2017     -     , 

  . 
  (2)  -        .   

 . 
  (3)   2017-2018     . 

 
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 (A)        

  (1)         . 7 

  (2)      . 7 

  (3)      ?   . 7 

 (B)      (  ) 3  

  (1)          ? 

   (a)       . 

   (b)       . 

   (c)       . 

   (d)        . 

  (2)   ________    . 

   (a)   (b)   

   (c)   (d)   

  (3)      ` 24,000  ` 32,000 .  ¼ 
 .       ?  

   (a) ` 30,000 (b) ` 24,000 

   (c) ` 12,000 (d) ` 32,000 

  (4)      = ________. 

   (a)  (b)   

   (c)  (d)   

  (5)     = ________. 

   (a)      (b)  

   (c)    (d)    

__________  
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Seat No. :  _______________
  

MF-107 
March-2019 

M.Com., Sem.-I (Repeaters) 

406 : Accounting for Managers 

 
Time :  2.30 Hours]  [Max. Marks : 70 
 
Instructions : (1) Q. No.-1, 2, 3 and 4 are for New Syllabus.  

  (2) Q. No.-1, 2, 3 and 5 are for Old Syllabus. 
 

1. (A) What are Indian Accounting Standards ? Explain the objectives, importance 
(usefulness) and limitations of Accounting Standards. 14 

    OR 

  Answer the following : (any two) 

  (1) Describe the objectives of Corporate Financial statements. 7 

  (2) State the features of Corporate Financial statement. 7 

  (3) Briefly explain the users and uses of Financial statement and Accounting 
informations. 7 

 

 (B) Select appropriate alternatives : (any three) 3 

  (1) This Accounting standard governs the preparation of Cash flow statement. 

   (a) AS-3/Ind AS-7 (b) AS-10/Ind AS-16 

   (c) AS-14/Ind AS-110 (d) None of the above 

 

  (2) AS-19/Ind AS-17 deals with 

   (a) Accounting for leases (b) Accounting for Amalgamation 

   (c) Accounting for Investments (d) Accounting for Fixed Assets  

 

  (3) Earning per share is dealt with by  

   (a) AS-20/Ind AS-33 (b) AS-2/Ind AS-2 

   (c) AS-12/Ind AS-20 (d) AS-10/Ind AS-16 
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  (4) The full form of IFRS is 

   (a) International Financial Reporting Standards 

   (b) Indian Financial Record Standard 

   (c) Indian Financial Reporting Standards 

   (d) None of the above 

 

  (5) Accounting standards are issued by _____ 

   (a) ICAI (b) ICSI 

   (c) ICWAI (d) CLB 

 

2. (A) The following are the Balance Sheets of Maulin Ltd. as on 31-03-2017 to              
31-03-2018. 14 

Liabilities 
31-03-17 31-03-18 

Assets 
31-03-17 31-03-18 

` ` ` ` 

Paid up share 
Capital, Equity 
shares of ` 10 each 

 

  
20,00,000 

 

 
34,00,000 

Fixed Assets 

Less : Depreciation 

30,00,000 

10,00,000 

20,00,000 

40,00,000 

12,00,000 

28,00,000 

Security Premium – 1,00,000 Investments 8,00,000 10,00,000 

General Reserve 4,00,000 4,50,000 Stock 15,00,000 16,00,000 

Capital Reserve 1,00,000 2,00,000 Debtors 9,00,000 6,00,000 

Profit & Loss A/c. 6,00,000 8,00,000 Bills receivables 4,00,000 2,00,000 

10% Convert 
Debentures 

Creditors 

 
10,00,000 

5,00,000 

              
5,00,000 

4,00,000 

Bank Balance 

Preliminary 
Expenses 

– 

          
2,00,000 

3,50,000 

 

1,50,000 

Bills payable 1,50,000 2,00,000    

Bank Overdraft 5,50,000 –    

Provision for 
taxation  

        
3,00,000 

            
3,50,000 

   

Proposed Dividend 2,00,000 3,00,000    

 58,00,000 67,00,000  58,00,000 67,00,000 

  Additional information : During the year 2017-18. 

  (1) Closing stock is under valued by ` 1,00,000. 

  (2) Doubtful debt of ` 20,000 is now to be written off. 

  (3) Tax amount ` 2,50,000 is paid for the year 31-03-17 and also proposed 
dividend for the same year is paid ` 2,00,000. 

  (4) Investments of ` 3,00,000 is sold at a profit and profit is credited to Capital 
Reserve A/c. 
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  (5) Cost value of Fixed Asset is ` 5,00,000 over which accumulated 
depreciation is ` 2,00,000 is sold for ` 2,50,000. 

  (6) Company has issued right shares in the ratio of 2 : 1 at par to the equity 
shareholders. 

  (7) After issuing right shares 1000 Convertible Debentures of ` 100 each 
converted into 8000 Equity shares each of ` 10. 

   From the above particulars, prepare cash flow statement as per Accounting 
standard No. 3/Ind AS-7 and analyse all activities. 

   (Show necessary working as a part of answer)   

OR 

 (A) (1) The Balance Sheet of ‘DP’ Ltd. as on 31-03-2018 is as under : 7 

Liabilities ` Assets ` 

Equity Shares of ` 10 each 30,00,000 Fixed Assets 55,50,000 

General Reserve 12,00,000 Stock 6,00,000 

Profit & Loss A/c. 6,00,000 Debtors 2,40,000 

10% Debentures 12,00,000 Bills Receivable 3,60,000 

Creditors 6,00,000 Cash Balance 7,20,000 

Bills payable 2,00,000 Prepaid expenses 1,30,000 

Provision for taxation 2,00,000   

Bank overdraft 6,00,000   

 76,00,000  76,00,000 

   Additional Information : 

   (1)  Total Sales (Cash sales is 2/5th of credit sales) ` 42,00,000.  

   (2) Gross Profit ` 15,00,000 

   (3) Net profit (Before Interest and Tax) ` 9,60,000 

   (4) Tax rate is 50%. 

   (5) Stock as on 1-4-2017 ` 4,80,000 

   From the above information calculate the following accounting ratios and 
give brief comment on each of them : 

   (Standard ratio are shown in the brackets) 

   (1) Net Profit Ratio (12%) 

   (2) Debtors Ratio (360 days to be taken for the year) (60 days) 

   (3) Liquid Ratio (1 : 1) 

   (4) Stock Ratio (5 times) 

   (5) Rate of Return on Shareholder’s Funds (10%) 

  (2) Write short note : “Limitations of Ratio Analysis”. 7 
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 (B) Select appropriate alternative : (any four)  4 

  (1) If Opening stock is ` 30,000 less than the Closing stock purchase is                    
` 4,80,000. Closing stock is ` 1,50,000 and Sales is ` 6,00,000 then Gross 
profit ratio will be  

   (a) 25% (b) 20% 

   (c) 331
3% (d) None of the above 

 

  (2) A company has issued Debentures of ` 40,000, its Preference Share Capital 
is ` 60,000 and Equity Share Capital is ` 4,00,000, then the Capital Gearing 
Ratio will be as under. 

   (a) 25% (b) 15% 

   (c) 10% (d) 50% 

 

  (3) Which of the following is the general ideal measurement for Current Ratio ? 

   (a) 2 : 1 (b) 1 : 2 

   (c) 1 : 1 (d) 3 : 1 

 

  (4) A Company’s Investment A/c shows ` 1,50,000 as opening balance and             
` 1,80,000 as closing balance. Some of the investments were sold at a price 
of ` 20,000 during the year and new investments worth ` 60,000 were 
purchased. Find out the loss on the sale of investments during the year.  

   (a) ` 10,000 (b) ` 20,000 

   (c) ` 25,000 (d) ` 30,000 

 

  (5) Which of the following is a Cash Flow from investing activities ? 

   (a) Sale proceeds of Machinery 

   (b) Payment of Income Tax 

   (c) Payment of Dividend 

   (d) Redemption of Debentures 

 

  (6) Find flow statement and cash flow statement are presented to 

   (a) Board of Directors (b) Foreman 

   (c) Production Manager (d) Sales Manager 



MF-107 13 P.T.O. 

3. (A) The Balance Sheet of Hari Ltd. as on 1-4-2017 is as under : 14 

Liabilities ` Assets ` 

Share Capital 14,40,000 Fixed Assets 18,00,000 

Reserves 3,60,000 Stock 3,00,000 

10% Debentures 4,80,000 Debtors 1,80,000 

Creditors 1,20,000 Cash and Bank 1,20,000 

 24,00,000  24,00,000 

  Other information : 

  (1) During the year 2017-2018 total purchases, sales and operating expenses 
were ` 16,20,000, ` 24,00,000 and ` 2,04,000 respectively. 

  (2) Debenture interest for the year was paid on 31st March, 2018. 

  (3) On 31st March, 2018 the balances of stock. Debtors and Creditors were  
` 2,40,000, ` 2,88,000 and ` 1,80,000 respectively. 

  (4) Depreciation on fixed-assets is to be provided at 10% per annum. 

  (5) Stock is valued as per ‘FIFO’ method. 

  (6) General price indices were as follows : 

   On 1st April, 2017    210  

   On 31st March, 2018    315 

   Average for the year    252 

  Prepare final accounts for the year 2017-2018 under historical cost method and 
current purchasing power method.  

                                         OR 

  Answer any two of the following : 

  (1) Explain the meaning and advantages of Human Resource Accounting. 7 

  (2) Explain the meaning and scope of environmental accounting. 7 

  (3) Discuss the role of financial fraud examiner or Explain the ‘Social 
Accounting”. 7 

  (4) Write short note “Concept of Value Added.” (V.A). 7 

 

 (B) Select appropriate alternative : (any four) 4 

  (1) Which one of the following is considered Non-monetary item with 
reference to Inflation Accounting ? 

   (a) Closing Stock (b) Debtors 

   (c) Cash and Bank Balance (d) None of the above 
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  (2) Amount of value added indicates 

   (a) Increase in the Social Welfare 

   (b) Decrease in the Social Welfare 

   (c) No change in Social Welfare 

   (d) None of the above 

 

  (3) Environmental cost includes 

   (a) Capital expenditure (b) Maintenance cost 

   (c) Waste Management cost (d) All of the above 

 

  (4) Legal framework directly related to Environment protection includes 

   (a) The Forest Act, 1980 (b) Water Cess Act, 1977 

   (c) The Environment Act, 1986 (d) All of the above 

 

  (5) Human Resources Accounting (HRA) is a process of 

   (a) identifying data (b) measuring data 

   (c) identifying and measuring data (d) None of the above 

 

  (6) Historical cost method is followed for 

   (a) Valuation of movable assets 

   (b) Valuation of intangible assets 

   (c) Valuation of physical assets 

   (d) Valuation of fictitious assets 

 

4. (A) What is Management Accountancy ? Discuss the usefulness (Advantages) and 
limitations of Management Accountancy. 14 

OR 

  (1) Discuss the techniques and tools of Management Accountancy. 7 

  (2) Discuss advantages and limitations of Cost Accounting. 7 

 

 (B) Select appropriate alternative : (any three)  3 

  (1) _____ is not used in Management Accountancy. 

   (a) Unit Costing (b) Marginal Costing 

   (c) Budgetary Control (d) Standard Costing 
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  (2) Objective of Management Accounting is  
   (a) To help Management by using total accounting data. 
   (b) To prepare Financial Accounts only. 
   (c) To prepare accounts of cost only. 
   (d) To prepare and present financial reports before shareholders. 
 
  (3) Management by Exception is 
   (a) a tool of Management Accountancy. 
   (b) a method preparing Financial Statement. 
   (c) a part of Costing method. 
   (d) Not any type of Accounting method. 
 
  (4) Which of the following reports is to be called special report ? 
   (a) Report of replacement of machinery. 
   (b) Report of daily consumption of raw materials. 
   (c) Report of monthly wages of employees. 
   (d) Report of region wise data. 
 
  (5) The various reports prepared with the methods of management accountancy 

should be presented to 
   (a) Various levels of Management 
   (b) Shareholders 
   (c) Investors, Creditors, Bankers etc. 
   (d) Stock exchange of India 

 

5. (A) Radha Ltd. furnishes you the following information relating to the half year 
ending 30th September, 2017. 14 

 ` 

Sales 4,00,000 

Fixed expenses 1,00,000 

Profit 1,00,000 

 

  During the second half of the year the company has projected a loss of  ` 20,000. 

  Calculate : 

  (1) The P/V Ratio, the breakeven point and margin of safety for six months 
(half yearly) ending 30th September, 2017. 

  (2) Expected sales for second half of the year assuming that selling price and 
fixed expenses remain unchanged in the second half year also. 

  (3) The breakeven point and margin of safety for the whole year 2017-2018. 

OR 
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 (A) Attempt any two of the following : 

  (1) Explain the concept of Zero-based Budgeting and state the advantages. 7 

  (2) Discuss the classification of cost by various bases. 7 

  (3) Define Budgetary control and state its advantages. 7 

 

 (B) Select appropriate alternatives : (any three) 3 

  (1) Which of the following is not purpose of budgeting ? 

   (a) It requires approval for routine spending. 

   (b) Budgeting forces advance planning. 

   (c) It communicates managements policies to subordinates. 

   (d) It establishes prices for internal services. 

 

  (2) Cash budget is a useful tool for _____ 

   (a) Financial planning (b) Tax planning 

   (c) Sales planning (d) Purchase planning 

 

  (3) Wages of January and February are ` 24,000 and ` 32,000 respectively. 
Time lay is ¼ month. Calculate amount to be paid in February.  

   (a) ` 30,000 (b) ` 24,000 

   (c) ` 12,000 (d) ` 32,000 

 

  (4) Contribution received from the sales of margin of safety = _____. 

   (a) Profit (b) Fixed cost 

   (c) Loss (d) Variable cost 

 

  (5) Contribution received at Break-Even-Point (BEP) = _____. 

   (a) Total Fixed Cost (b) Profit 

   (c) Loss (d) Total Variable cost 
_________ 


